#### Examination of substance-use and its psychological signs among the spes students

#### Engin Gezer

### Mustafa Kemal University, School of Physical Education and Sports, Hatay, Turkey. gezerengin@gmail.com

Abstract: The study was descriptively undertaken in order to discover the psychological signs of substance-use among the students who studied at the schools of physical education and sports and to determine whether or not there was a significant difference between substance-use and psychological signs. The sample of the study was composed of 273 students (106 female students and 167 male students) who studied at the Schools of Physical Education and Sports of Mustafa Kemal University and whose mean age was 21.93±1.88. The psychological signs were measured using Brief Symptom Inventory (BSI) which was developed by Derogatis and the validity and reliability tests of which were made by Şahin and Durak. The analyses of the data were performed with percentage calculations, frequency analyses and Mann Whitney-U test. As the result of the study, there were statistically significant differences between smoking, volatile substance-use and narcotic substance-use, and psychological signs among the students. It was found out that BSI subscale scores of the students who smoked and used volatile substance and narcotic substance. As for alcohol use, there was no difference among the students.

[Engin Gezer. Examination of substance-use and its psychological signs among the spes students. *Life Sci J* 2013; 10(4): 886-894]. (ISSN: 1097-8135).<u>http://www.lifesciencesite.com</u>. 112

Key Words: Brief Symptom Inventory (BSI), Substance Use, SPES students

#### 1. Introduction

In the general sense, dependency may be described as being under an influence created by an irrepressible hunger for an object, person or thing or as being under the control of a different power and reflects a pathological behavior related with human's mental activity. Although dependency damages people's psychological and physical health or social lives; it is a condition in which people experience an uncontrollable desire and hunger to repeat and to continue the obsessive situation. When we talk about dependency; a dependency for chemical or herbal substances, which are also called drugs, come into mind (3).

Use of addictive substances is regarded as a serious health problem in the world. Substance-use has more and more been increasing particularly among the developing countries despite some measures taken (4,5). The researches on substance-use in other countries and in Turkey focus mainly on primary school education period and high school education period (5). Yet, substance-use is also a serious problem in higher education (university education) in terms of public health and educational life (6).

Adolescence is a potentially risky period of crisis during the growth. When adolescents, who are occupied with identity development process and experience heavy inner conflicts, face with a risk factor; they develop health problems. Members of adolescence period carry risks or a combination of risk factors and therefore, it is thought that they need help more compared to other people (7). That the age of substance-use starts generally with youth makes it a problem of youth age, too (8). Adolescents are an important risk group for the start of substance use (9).

The studies indicate that young people start substance-use for various reasons such as to enjoy, to answer social and emotional needs, to move away from the problems, to seek for adventure or to challenge (10).

Smoking is the most common and the most important type of substance dependency because it is easy to obtain, is legal to use and is the transition substance regarding substance dependency such as heroin, cocaine, alcohol and cannabis (11). Smoking is a crucial problem not only for our country but also other countries. Today, 1.1 billion people smoke in the world and it is estimated the number of the smokers will have exceeded 1.6 billion (12).

Universities play a key role in educating human power of a country which is the determinant of development level of that country (13). -With the end of adolescence-; university period, which becomes a step between taking responsibility for social life and reaching independence, is described as a physical, psychological and social maturity period, too (14).

Students who start university education in a new city suddenly find themselves in a different academic, economic, cultural and social setting. This new lifestyle is different from the past lifestyle in terms of educational experiences, human relations and social life and students –in this foreign place- are obliged to take their individual life responsibilities on their own (15).

During this transition period; some students develop effective coping skills against the problems faced while other cannot meet the needs and demands created by the new developmental roles in this new setting and may experience some problems during the adaptation period to university life. The young individuals who cannot cope with the problems may undergo some behavioral disorders such as depression and general anxiety, academic failure and problems in interpersonal relations and social adaptation (16). When these above mentioned problems and the knowledge that psychiatric problems generally start during adolescence period are together taken into consideration; it may be argued that university students constitute an important risk group for psychological disorders (17, 18).

University education aims at not only providing the students with professional qualities and skills but also training young individuals who become satisfied with themselves, their life roles and social relations; find the life meaningful, produce ideas, have missions and are productive and healthy (19). Education given to those who have psychological problems will not be effective enough and thus it will be difficult for the individuals with poor educational level to be efficient in their profession and society (20).

The age to start substance has been decreasing and substance-use, which has increasingly been spreading in our country and in the world, has been turning into a crucial problem. It is emphasized that sports keep people away from bad habits and are both physiologically and psychologically important in the society. Although there are many researches conducted among different student groups and university students; we are of the opinion that the present study is important because there is not enough number of researches conducted on SPES students. As a conclusion; the study aimed at investigating the between psychological correlation signs and dependence levels among the students who received sports education.

### 2. Material and Method

### 2.1. Research Model

The study was conducted in a descriptive model. Qualitative research approach was employed.

### **2.2. Population and Sample**

The population of the study was composed of the students who studied at the schools of physical education and sports at state universities in Turkey.

The sample of the study was consisted of 273 students (106 female students and 167 male students) who studied at the Schools of Physical Education and Sports of Mustafa Kemal University and whose mean age was  $21.93\pm1.88$ .

### 2.3. Data Collection Tool

The data collection tool was composed of two parts: The first part "Identity Information Form" included the questions about the students' personal information and smoking habit, alcohol-use, volatile substance-use and narcotic substance-use. The second part included "Brief Symptom Inventory (BSI)" used to measure psychological signs of the students.

## 2.3.1. The Scales used

### 2.3.1.1. Personal Information Form

The form, which was designed by the researcher, included personal information such about gender, class, the place where the students had lived before the university, parental status, income level of the family, the place where the family lived currently, whether or not parents were employed, students' income and their hobbies.

Also, the questions that addressed dependency – namely, the basic aim of the study- were included in this form. The dependency status of the students was interpreted according to the answers given to the questions which were asked to the students. The answers given to the questions about smoking habit, alcohol-use, volatile substance-use and narcotic substance-use were interpreted that they used that substance. The questions asked were as follows:

- 1. -Even if just for once- did you try smoking, alcohol, volatile substance and narcotic substance at any period of your life -?
- **2.** Now, do you still smoke, drink alcohol, use volatile substance or narcotic substance?

Any students who answered yes to both of the questions above were accepted as a smoker, alcohol, volatile substance and narcotic substance abusers.

### 2.3.1.2. Brief Symptom Inventory-BSI

Brief Symptom Inventory-BSI which was developed by Derogatis and the validity and reliability tests of which were made by Şahin and Durak was used in order to measure the psychological signs of the students of the School of Physical Education and Sports (1, 2).

Brief Symptom Inventory-BSI was invented from Symptom Check List (SCL-90) which can measure the psychological signs of the students in a reliable and valid way and is the short form of Symptom Check List\_90. It includes various aspects of selfmeasurement scales.

BSI is a five point rating scale with 53 questions in which individuals' different psychological signs are described and measured. Subjects who answer the 53 questions mark one of the options "(0) Never, (1) a little, (3) somewhat, (4) much and (5) very much". Each item/question is scored between 0 and 4

according to whether or not the students have psychological signs and according to the option the students mark if any. The BSI subscales are as follows: hostility, somatization, depression, anxiety and interpersonal sensitivity. There is a grading key for each subscale according to the item number of the subscales. With the grading key, the students mark each question of the subscales between 0 and 4 and thus, the score of the subscale is obtained.

"Anxiety" includes such symptoms and behaviors as restlessness, fear, anxiety, tension, nervousness, panic, nausea, diarrhea, urinary frequency, feeling of short of breath, sweating, frequent breath and is composed of 13 items.

"Depression" includes such symptoms and behaviors worry, pessimism, as loneliness. unhappiness, negative feelings about the self, suicide tendency, loss of interest and uncertainty and is composed of 12 items.

sensitivity" "Interpersonal includes such symptoms and behaviors as personal inadequacy and inferiority and self deprecation, guilt and is composed of 12 items.

"Somatization" includes many relapsing somatic complaints not due to the any physical disorder such as faint, aches and pains in chest and abdomen, short of breath, nausea, dizziness and is composed of 9 items.

"Hostility" includes such symptoms as nervousness and tension, annoyance, lack of confidence, irritability, urges to beat and to harm someone, to break things, frequent arguments and uncontrollable outburst of temper and is composed of 7 items.

# 2.4. Data Collection

The questionnaire forms were distributed by the researcher to the students and they filled in the forms. 23 forms were not evaluated because they were incorrectly filled in or there were missing answers.

# 2.5. Data Analysis

Statistical analyses of the data obtained were performed using Portable IBM SPSS Statistics v19 program. Minimum and maximum values of the mean scores obtained from the BSI subscales were presented in tables.

Cronbach Alpha internal consistency coefficients of the Brief Symptom Inventory Subscales were 0.88 for Depression, 0.90 for Anxiety, 0.90 for Interpersonal Sensitivity, 0.82 for Somatization and 0.77 for Hostility.

The results of the inventory were similar to the results of Turkish form of the inventory. In the validity and reliability tests performed by Sahin and Durak (1994); Cronbach Alpha internal consistency coefficients of the Brief Symptom Inventory Subscales were 0.85 for Depression, 0.81 for Anxiety, 0.80 for Interpersonal Sensitivity, 0.71 for Somatization and 0.72 for Hostility (2).

Kolmogorov-Smirnov and Shapiro-Wilk tests were employed to test whether or not scores obtained from the inventory followed a normal distribution before the statistical analyses of the data were initiated and it was found out that observation values did not follow a normal distribution

Because the data did not follow a normal distribution; one of the non-parametric tests -Mann Whitney U-Test- was used in order to discover whether or not there was a significant difference in the subscale scores in terms of smoking, alcohol-use, volatile substance-use and narcotic substance-use.

# 3. Findings

The results are shown in Table. 1-5.

Table 1. Distribution of Mean Scores Obtained by SPES students form BSI subscales										
	Ν	Minimum	Maximum	Mean	Std. Deviation					
Depression	273	0,00	43,00	11,5421	8,85499					
Anxiety	273	0,00	48,00	11,4799	9,41216					
Negative Self Concept	273	0,00	43,00	10,2051	8,95342					
Somatization	273	0,00	31,00	7,3297	6,01051					
Hostility	273	0,00	26,00	6,1978	4,75863					
Severity Index	263	1,00	3,50	1,6060	0,53939					
Distress Index	273	0,00	3,38	0,8822	0,66389					
Symptom Total Index	273	0,00	53,00	27,4322	15,60790					
DOLD'CO / I		1 (D1 1 1 1 1	10 1		•					

Table 1 Distribution of Moon Sooner Obtained by SDES students form DSI subscales

BSI: Brief Symptom Inventory, SPES: School of Physical Education and Sports.

	Sigara	Ν	Mean Rank	Sum of Ranks	U	Р
	Yes	65	150,54	9785,00		
Depresyon	No	208	132,77	27616,00	5880,00	0,113
	Total	273				
	Yes	65	152,56	9916,50		
Anksiyete	No	208	132,14	27484,50	5748,50	0,068
	Total	273				
	Yes	65	145,22	9439,50		
Olumsuz Benlik	No	208	134,43	27961,50	6225,500	0,335
	Total	273				
Somatizasyon	Yes	65	148,78	9671,00		0,167
	No	208	133,32	27730,00	5994,000	
	Total	273				
	Yes	65	140,03	9102,00		0,722
Hostilite	No	208	136,05	28299,00	6563,000	
	Total	273				
	Yes	64	152,57	9764,50		
Semptom Rahatsızlık İndeksi	No	199	125,38	24951,50	5051,500	0,013*
_	Total	263				
	Yes	65	150,71	9796,00		
Rahatsızlık İndeksi	No	208	132,72	27605,00	5869,000	0,109
	Total	273				
	Yes	65	139,95	9096,50		
Belirti Toplam İndeksi	No	208	136,08	28304,50	6568,500	0,730
_	Total	273			]	

Table 2. Mann W	hitney U-Test	used to discover	• whether or	not SPES students	s' subscale scores differed in
terms of "smoking	g".				

\*P<0.05, BSI: Brief Symptom Inventory, SPES: School of Physical Education and Sports.

Table 3 Mann Whitney	U-Test used to discover	r whether or not	t SPES students'	subscale scores d	iffered in
terms of "alcohol-use".					

	Alkol	Ν	Mean Rank	Sum of Ranks	U	Р
	Yes	77	151,78	11687,00		
Depresyon	No	196	131,19	25714,00	6408,000	0,052
	Total	273			U 6408,000 6918,500 6944,500 7294,500 7004,000 6521,000 6768,500 7236,500	
	Yes	77	145,15	11176,50		
Anksiyete	No	196	133,80	26224,50	6918,500	0,285
	Total	273		k Sum of Ranks U P   11687,00 6408,000 0,0   25714,00 6408,000 0,0   11176,50 6918,500 0,2   11150,50 6918,500 0,2   11150,50 6944,500 0,3   10800,50 7294,500 0,6   11091,00 7004,000 0,3   10804,00 6521,000 0,2   11326,50 6768,500 0,1   10858,50 7236,500 0,5		
	Yes	77	144,81	11150,50		
Olumsuz Benlik	No	196	133,93	26250,50	6944,500	0,305
	Total	273				
Somatizasyon	Yes	77	140,27	10800,50		0,668
	No	196	135,72	26600,50	7294,500	
	Total	273		10800,50   26600,50   7294,500   11091,00   26310,00		
	Yes	77	144,04	11091,00		0,354
Hostilite	No	196	134,23	26310,00	7004,000	
	Total	273		$\begin{array}{c c c c c c c c c c c c c c c c c c c $		
	Yes	77	140,31	10804,00		
Semptom Rahatsızlık İndeksi	No	186	128,56	23912,00	6521,000	0,253
_	Total	263				
	Yes	77	147,10	11326,50		
Rahatsızlık İndeksi	No	196	133,03	26074,50	6768,500	0,185
	Total	273				
	Yes	77	141,02	10858,50		
Belirti Toplam İndeksi	No	196	135,42	26542,50	7236,500	0,598
_	Total	273				

\*P<0.05, BSI: Brief Symptom Inventory, SPES: School of Physical Education and Sports.

	Uçucu Madde	Ν	Mean Rank	Sum of Ranks	U	Р
	Yes	9	186,94	1682,50		
Depresyon	No	264	135,30	35718,50	738,500	0,053
	Total	273			]	
	Yes	9	170,67	1536,00		
Anksiyete	No	264	135,85	35865,00	885,000	0,193
	Total	273				
	Yes	9	171,00	1539,00		
Olumsuz Benlik	No	264	135,84	35862,00	882,000	0,188
	Total	273				I
Somatizasyon	Yes	9	177,44	1597,00		
	No	264	135,62	35804,00	824,000	0,117
	Total	273				1
	Yes	9	187,78	1690,00		0,049*
Hostilite	No	264	135,27	35711,00	731,000	
	Total	273				
Semptom	Yes	9	177,56	1598,00		
Rahatsızlık	No	254	130,39	33118,00	733,000	0,067
İndeksi	Total	263				
Dahatarlık	Yes	9	180,94	1628,50		
Rahatsızlık İndeksi	No	264	135,50	35772,50	792,500	0,089
	Total	273				
Dolinti Tonlom	Yes	9	164,28	1478,50		
İndologi	No	264	136,07	35922,50	942,500	0,292
THUCKSI	Total	273				

Table 4. Mann Whitney U-Test used to discover whether or not SPES students' subscale scores differed in
terms of "volatile substance-use".

\*P<0.05, BSI: Brief Symptom Inventory, SPES: School of Physical Education and Sports.

Table 5 Mann	Whitney	U-Test	used to	o discover	whether	or 1	not S	SPES	students'	subscale	scores	differed	in
terms of "narc	otic substa	ince-use	e".										

	Uyuşturucu Madde	Ν	Mean Rank	Sum of Ranks	U	Р	
	Yes	6	210,75	1264,50			
Depresyon	No	267	135,34	36136,50	358,500	0,021*	
	Total	273					
	Yes	6	198,25	1189,50			
Anksiyete	No	267	135,62	36211,50	433,500	0,054	
	Total	273					
	Yes	6	196,33	1178,00			
Olumsuz Benlik	No	267	135,67	36223,00	445,000	0,062	
	Total	273					
Somatizasyon	Yes	6	211,92	1271,50			
	No	267	135,32	36129,50	351,500	0,018*	
	Total	273					
	Yes	6	213,75	1282,50			
Hostilite	No	267	135,28	36118,50	340,500	0,016*	
Hostilite	Total	273					
Same tan Dahatanlah	Yes	6	204,50	1227,00			
Semptom Kanatsiziik Indoksi	No	257	130,31	33489,00	336,000	0,018*	
Indeksi	Total	263					
Rahatsızlık İndeksi	Yes	6	210,08	1260,50			
	No	267	135,36	36140,50	362,500	0,022*	
	Total	273					
	Yes	6	188,17	1129,00			
Belirti Toplam İndeksi	No	267	135,85	36272,00	494,000	0,108	
_	Total	273					

\*P<0.05, BSI: Brief Symptom Inventory, SPES: School of Physical Education and Sports.

### 4. Discussion and Conclusion

Since youth period is a period in which not only physiological changes but also psychological and social changes are experienced, it psychologically challenges the young individuals. Therefore, each young individual response differently to the psychological forces with different reactions and some of these reactions are made of psychological signs (21).

University students are obliged to cope with such problems as uncertainties about beginning a job, selection of future job, being an independent individual, increasing responsibilities, living away from the families and trying to lead their lives independently (22). Inabilities to cope with these disadvantages may cause some psychological problems among the university students (23, 24, 25).

The study aimed at discovering the correlation between substance-use and the psychological signs of substance-use among the students who studied at the schools of physical education and sports. It was found out that mean scores obtained from BSI used to determine psychological signs of the SPES students were as follows: depression:  $11.54\pm8.85$ , anxiety:  $11.48\pm9.41$ , interpersonal sensitivity:  $10.21\pm8.95$ , somatization:  $7.33\pm601$ , hostility:  $6.20\pm4.76$ , symptom distress index:  $1.61\pm0.54$ , distress severity index:  $0.8822\pm0.66389$ , symptom total:  $27.43\pm15.61$ (Table 1).

In the study of Şahin et al. in which the validity and reliability tests were performed to confirm the use of the inventory among adolescents; mean scores obtained from BSI were as follows: depression:  $14.58\pm10.27$ , anxiety:  $14.25\pm9.89$ , interpersonal sensitivity:  $5.40\pm4.99$ , somatization:  $3.37\pm3.73$ , hostility:  $4.94\pm3.91$ , symptom distress index:  $1.59\pm0.53$ , distress severity index:  $0.75\pm0.50$ , symptom total:  $23.52\pm10.78$  (26). When we compared our results to the results of the study of Şahin et al.; it was seen that scores of depression and anxiety were in favor of SPES students while other subscales were not.

An increase in distress severity index -accepted as the general score of the inventory- indicates the increase in distress experienced due to psychological signs (27). In the studies conducted with different university students who studied at different departments, it was discovered that there were some differences in distress severity index. In the study of Demirel et al., different university students who studied at different departments were compared using brief symptom inventory to assess their psychological signs and their distress severity index scores were found to be lower than our study (27).

Mean distress severity index scores of SPES

students were found to be higher than the results in the study of Demirel et al., the study in which Turkish validity and reliability tests of BSI were performed among adolescents aged between 13 and 17 and than the results in the study of Dökmen and Kışlak on university students (27,26,28). In this sense; it may be interpreted that SPES students' psychological symptom frequency was higher as far as the mean scores obtained from BSI were concerned.

In the assessment made to discover substance use among the SPES students, it was found out that smoking rate was 23.8%. This result was in line with the results of other studies conducted in our country (29, 30). In a study conducted with the students of eight Turkish universities; it was noted that 25.4% of the students smoked (32). When the findings of the studies conducted in other regions of Turkiye and our findings were compared, it was understood that smoking rate of these studies was similar.

In the assessment made to discover alcohol-use among the SPES students, it was found out that 28.2% of the students still used alcohol. This result was in agreement with the results of other studies conducted in other Turkish universities (29, 31). However, it was seen that rate of alcohol-use in Turkiye was lower than the developed countries (33, 34).

In our study, the rate of volatile substance-use was found to be 3.3% while the rate of narcotic substanceuse was found to be 2.2 among the university students. But, in another study which was conducted by Turhan et al. on the university students who studied at different departments of the same university, it was discovered that the rate of narcotic substance-use was found to be 1.8 (35).

When considered the fact that SPES students receive education on sports and know the negative effect of substance-use on performance, we were of the opinion that the picture depicted by the difference between these two findings is an alarming outcome.

When our findings were compared to the findings of the studies conducted in the developed countries; the outcome, which is valid for our country, is also valid for our study and prevalence of narcotic substance-use is low (36, 37). It was seen that the rate of narcotic substance-use in the studies which were conducted with university students in different geographic regions was much lower than our results (38, 39, 40).

The comparison between substance-use –the basic component of the aim of the study- and BSI (Brief Symptom Inventory) subscales provided the following outcomes:

When the findings which were obtained after statistical assessment in relation with BSI scores of SPES students were assessed in terms of smoking variable; it was noted that psychological symptom levels of the students differed statistically and significantly only in symptom distress index as far as smoking variable was concerned. Symptom distress index scores of the students who smoked were higher than those not smoking (p<0.05) and the difference between the two groups was found to be significant (Table 2).

In the statistical assessment made in terms of alcohol-use variable; none of BSI subscale scores of SPES students gave statistically significant difference as far as alcohol-use variable was concerned (Table 3).

When the findings which were obtained after statistical assessment in relation with BSI scores of SPES students were assessed in terms of volatile substance-use variable; it was noted that psychological symptom levels of the students differed statistically and significantly in hostility as far as volatile substance-use variable was concerned. Hostility scores of the students who used volatile substance were found to be higher and more significant than those who did not use volatile substance (p<0.05) (Table 4).

In the statistical assessment made in terms of narcotic substance-use, it was noted that psychological symptom levels of the students differed statistically and significantly in depression, somatization, hostility, interpersonal sensitivity, distress index and symptom distress index. These significant differences indicated the same situation in all subscales, which meant that BSI scores of those who used narcotic substances were higher and more significant than those not using narcotic substances (p<0.05) (Table 5).

When the relevant literature was examined, it was noted that there were correlations between substanceuse and psychological symptoms (35). But, our study was not in line with the literature in terms of some symptoms. Whereas some of the previous studies detected a correlation between self esteem and substance-use (41, 42); there were studies that did not find a correlation, like ours (43, 44).

Depression, which was a distress seen most in substance-use among the adolescents has been focused (35). Anxiety and other psychological symptoms and distresses followed depression (45). Literature states that substance-use may increase anxiety levels and aggravate anxiety disorder (46).

In other words, increased anxiety levels and anxiety disorder may increase the risk to start substance-use (43, 47).

It is emphasized that substance-use among the adolescents may be closely correlated with family structure and such factors as conflicts and problems in the family, poor family ties, poor social support in the family are important risk factors for substance-use (45).

As a conclusion; it is noted that smoking, alcohol-

use, volatile substance-use and narcotic substance-use among the students who study at the schools of physical education and sports is very common. Our study findings also point out that there are significant correlations between substance-use and psychological symptoms.

The starting point should be the fact that university students constitute an important risk group in terms of substance-use and therefore studies that will prevent substance-use should be conducted. Not only are there measures that university administrations can take but also attention of the administrative bureaucrats of the countries should be drawn so that they can take some measures on this issue.

### References

- 1. Derogatis LR. The Brief Symptom Inventory-BSI Administration, Scoring and Procedures Manual USA, Clinical Psychometric Research Inc, USA. 1992.
- Şahin NH, Durak A. A Study of the Brief Symptom Inventory in Turkish Youth. Journal of Turkish Psychology, 1994; 9 (31): 44-56.
- 3. Uzbay IT, History of Substance Dependence, Definition, General Information and Addictive Substances, Journal of Continuous Vocational Education, 2009;5(15):21-22.
- Inandi T, Özer C, Akdemir A, Akoğlu S, Babayiğit C, Turhan E, Sangün Ö. Violence, Psychological Features, and Substance Use in High School Students in Hatay: A Cross-Sectional Study. Trakya University Journal of Medicine School, 2009;26(3):189-196.
- Yalçın M, Eşsizoğlu A, Akkoç H, Yaşan A, Gürgen F. Risk Factors Associated with Substance Use among Dicle University Students. Clinical Psychiatry, 2009;12:125-133.
- 6. Ögel K. Epidemiology of Substance Use Disorders, Turkey Clinical Journal of International Medicine Science 2005;1(47):61-64
- 7. Cimete G. Substance Use in Adolescents, Nursing Forum, 2000;5(1):2-9.
- Akın M., Health Education Needed by the Students Concerning the Detrimental Effects of Substance, Journal of Dependence, 2000;1(1):14-17.
- 9. Tamar D, Ögel K, Substance Use in Adolescence, Spiritual Approach to Problems in Adolescence, Continuous Publication of Aegeon Psychiatry, 1997.
- Akfert Sk, Çakıcı E, Çakıcı M. Cigarette and Alcohol Use Among University Students and its Relationship with Family Problems, Anatolian Journal of Psychiatry, 2009;10:40-47.
- 11. Piar, Smoking Habits and Public Opinion Research Report on Tobacco Control, 1988.

- Mayda AS, Tufan N, Baştaş S. Attitudes Towards Smoking and Frequency of Smoking among Students of Düzce Medical School, TAF Preventive Medicine Bulletin, 2007;6(5):364-370.
- 13. Yılmaz M, Ocakçı AF. Determination the Anxiety Level of University Students One Dormitory Located. Maltepe University Journal of Nursing Science and Arts, 2010;3(1): 15-23.
- 14. Bostanci N, Çoban Ş, Tekin Z. Anger Expression According to Sexuality of University Students, Journal of Crisis, 2006;14 (3), 9-18.
- 15. Karahan F, Sardoğan ME, Özkamalı E, Dicle AN. An Investigation on Academic, Social and Individual Adjustment to University. Cukurova University Faculty of Education Journal, 2005;2(30),63-71.
- 16. Koç M, Polat Ü. The Mental Health of University Students, International Journal of Human Sciences, 2006;3(2),1-22.
- Uskun E, Aydın Ü, Öztürk M, Üçtaşlı S. Social and Psychological Features of Suleyman Demirel University School of Dentistry Undergraduates, Ankara University Journal of Faculty of Dentistry, 2005;32(1):35-44.
- 18. O'Brien. Student Mental Health Policy Report. University College Cork, Ireland, 2010:1-35.
- İmamoğlu O, Gültekin YY. University Youth Issues in the Light of the Social Individual Model Proposed Balanced, Turkish Journal of Psychology, 1993;8(30),27-41.
- 20. Tanrıverdi D, Ekinci M, The State of Having Mental Problems of The Nursing Students and the Determination of Their Problem Areas, Ataturk University Journal of School of Nursing, 2007;10 (4):42-51.
- 21. Aydın G, Demir A. The Prevalence of Depressive Symptoms in Students of METU, Journal of Human Sciences, 1989;8:27-40.
- 22. Ökdem Ş, Yardımcı F, Examination of Some of the Variables in Terms of the Level of Perceived Social Support from University Students, Anatolian Journal of Psychiatry, 2010;11:228-234.
- 23. İnanç N, Savaş HA, Tutkun H. Medico-Social Center of Gaziantep University, Examined Students' Clinical and Socio-Demographic Characteristics of Psychiatric, Anatolian Journal of Psychiatry, 2004;5:222-230.
- Ültanır E. The Requirement of Needed to Open Psychological Counseling and Guidance Centers at New Universities, Contemporary Education Journal, 1996;220(21):10-14.
- 25. Koç M, Polat Ü. The Mental Health of University Students, International Journal of Human Sciences, 2006;3 (2):1-22.

- Şahin NH, Durak Batıgün A, Uğurtaş S. The Validity, Reliability and Factor Structure of the Brief Symptom Inventory (BSI), Turkish Journal of Psychiatry, 2002;13(2):125-135.
- 27. R Eğlence, E Kaçmaz. Determination of the Mental Conditions of the University Students S.A. Demirel, / Nevsehir, University Journal of Social Sciences, 2011;1:18-29.
- Dökmen ZY, Kışlak ŞT. Comparison of Handicapped and No Handicapped University Students' Demographical and Psychological Characteristics and Problems, Journal of Crisis, 2004;12(2):33-47.
- 29. Tanrıkulu AÇ, Çarman KB, Palancı Y, Çetin D, Karaca M. The Prevalence of Cigarette Smoking among University Students in Kars and Risk Factors, Turkish Thoracic Journal 2009;11:101-106.
- Altındağ A, Yanık M, Yengil E, Karazeybek AH. Substance Use among University Students in Sanliurfa, Journal of Dependence, 2005;6(2).
- 31. Bertan M, Özcebe H, Haznedaroğlu D, Kırcalıoğlu N, Bülbül SH. The Knowledge of Adolescent Period and the Lifestyle of the First Year Students in Universities. 29th Umemps Congress Union of Middle Eastern And Mediterranean Pediatric Societies, Hilton Convention Center, 2005, September 14-17, 55-56.
- 32. Şimşek Z, Koruk İ, Altındağ A. Health Risk Behaviors of First Year Students of Harran University Medical Faculty and Faculty of Science and Letters, Bulletin of Community Medicine, 2007;26(3):19-24.
- Johnston LD, O'Malley PM, Bachman JG. National Survey Results on Drug Use From the Monitoring the Future Study, 1975–1999, College Students and Adults II (Ages 19–40). Bethesda, Md: National Institute on Drug Abuse, 2002.
- Pickard M, Bates L, Dorian M. Alcohol and Drug Use in Second-Year Medical Students at the University of Leeds. Medical Education. 2000;34:148-150.
- 35. Turhana E, Tacettin İ, Özerb C, Akoğlu S. Substance Use, Violence among University Students and Their Some Psychological Characteristics, Turk J Public Health 2011;9(1).
- 36. Mccabe ES, West TB, Weshsler H. Trends and College Level Characteristics Associated with the Non-Medical Use of Prescription Drugs among US College Students From 1993 to 2001. Addiction 2007;102:455-46.
- Johnston LD, O'Malley PM, Bachman JG, Schulenberg JE. Monitoring the Future: National Survey Results on Drug Use, 1975-2007.

National Institute on Drug Abuse, USA. 2004.

- Richter SS, Brown SA, Mott MA. The Impact of Social Support and Self-Esteem on Adolescent Substance Abuse Treatment Outcome, Journal of Substance Abuse, 1991;3:371-85.
- 39. Akvardar Y, Aslan B, Ekici BZ, Ögün E, Simsek T. The Prevalence of Cigarette Smoking, Alcohol and Drug Use among Second Year Medical Students in Dokuz Eylül University. Journal of Dependence, 2001;2(2).
- 40. Gorgun S, Tiryaki A, Topbaş M. Substance Use and Parental Bonding Styles Among University Students, Anatolian Journal of Psychiatry, 2010;11(4):305-312.
- 41. Commerci GD, Schwebel R. Substance Abuse: An Overview, Adolescent Medicine: State of the Art Reviews, 2000;11:79-101.
- 42. Kawabata T, Cross D, Nishioka N, Shimai S. Relationship between Self-Esteem and Smoking Behavior among Japanese Early Adolescents: Initial Results from A Three-year Study, Journal

10/3/2013

of School Health, 1999;69:280-284.

- 43. Özbay H, Şahin N, Hıncal G, Öztürk E, Güngör S, Aktaş A, Aybaş M, Göka E. Research and Clinical Observations Frequently Point to a Co-Morbidity of Substance and Alcohol Abuse, The Journal of Psychiatry and Neurological Sciences, 1991;4:53-58.
- 44. Glendinning A, Inglis D. Smoking Behavior in Youth: The Problem of Low Self-Esteem? Journal of Adolescence, 1999;22:673-682.
- 45. Ercan O, Alikaşifoğlu M. Adolescent Drug Use, Turkish Archive of Pediatrics, 2002;37:66-73
- 46. Yazıcı H, Ak I. Depressive Symptoms, Personal Health Behaviors and Smoking among University Students, Anatolian Journal of Psychiatry, 2008;9:224-231.
- 47. Saltık A, Yılmaz T, Yorulmaz F, Spor Y. Smoking Behavior of 5100 Middle-High School Students in the Center of Edirne and to Examine the Anxiety Level that Tested by Spielberger, Ege Journal of Medicine, 1992;31:53-9.